40+5

G+0F

9+9

90+2

¢+06

10-2

¢-0I

30+7

/+0¢

72-1

-2/

34+2

ctit

10-3-4

v7-€-01




* Anim lfﬁgé(fré
‘* x| 7
* * * %
*

oK
.

_

L 7(7,' .
* § AnimaReCre »

71*

"X

X

o

e
* " Anim'aReCre >

o,
>

11*

X

el

x4

* 4

Anim GRACré
n
fRav *
TN
.

o

x

AnimaReCré
n
e = *
K
-

o

x




50+7+10

O1+/+0%

42-10

Ol-¢v

62+12

cl+c9

6+7

Bb+H+2

c+G+G

12-9

6-21

4+4+4+4

VARl Ad

Bbu 7d

PL NG




* Anim lfﬁgé(fré
‘* x| 7
* * * %
*

oK
.

_

L 7(7,' .
* § AnimaReCre »

71*

"X

X

o

e
* " Anim'aReCre >

o,
>

11*

X

el

x4

* 4

Anim GRACré
n
fRav *
TN
.

o

x

AnimaReCré
n
e = *
K
-

o

x




8u 3d

PE NG

2bh+11

[1+G¢

14-10

Ol-¥1

H0+25

G2+0G

90-3

€-06

29-21

[¢-62

40+28

82+0v

61+24

7c+19




* Anim lfﬁgé(fré
‘* x| 7
* * * %
*

oK
.

_

L 7(7,' .
* § AnimaReCre »

71*

"X

X

o

e
* " Anim'aReCre >

o,
>

11*

X

el

x4

* 4

Anim GRACré
n
fRav *
TN
.

o

x

AnimaReCré
n
e = *
K
-

o

x




89-12

cl-68

35-30

0E-G¢E

89-33

£€-68

89-28

82-68

29-23

£2-62

39+28

82+6¢

12+9+8

8+6+21

48-42

cv-87




* Anim lfﬁgé(fré
‘* x| 7
* * * %
*

oK
.

_

L 7(7,' .
* § AnimaReCre »

71*

"X

X

o

e
* " Anim'aReCre >

o,
>

11*

X

el

x4

* 4

Anim GRACré
n
fRav *
TN
.

o

x

AnimaReCré
n
e = *
K
-

o

x




